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Head each gquestivn carelully belvre you answer,

I. Suppose the production functionis Y{U)=K{1" (L) "{0 <o < 1), and that

K and H evolve avcording to K () =5, Y{U), I‘{{l} =5y ¥ (L), (30%)

{a) Show that regardless of the initial levels of K and H {as long as both are positive),
the ratic K/H converges lo some balanced-growth-path level, (E/H}®.

(b} Onwe K/H has converged (o (K7, what are the growth rates ol K H, and ¥

(c) How, if at all, does the growth rale o ¥ on the balanced growlh path depend on s
and 5,7

(d) Suppose KSH starts off at a level that is smaller than (K/H)*.  1a the initial growth
rate of Y greater than, less than, or equal 1o its growth rate on the halanced growth
path?

2. Describe how each ol the lullowing changes aflect income, the exchange rate, and
nel exports at a given price level under: (1) a floating exchange rale and perfect
capital mobility, (2) a fixed exchange rate and perfect capital mobility, and (3) a
Hoating exchange rate and imperfect capital mobility  Assume siatic exchange rate
expectalions , and assume that planned expenditure is given by
COY =TI 10— qp )+ G+ NX(eP¥HP). (30%)

(a) The demand fin money (al given i and Y) falls.

(h) The foreign interest rate nses,

{c} The country adopts protectionist pelicies, so thal nel exporls al a given real

exchange rate are higher than hefore
'

3. Suppose thal money demand is given by In{M/F)=a-bi + In’Y, and that ¥ is

growing at rate gy.  What rate of inflation leads to the highest path of seignurage?
{20%) 2 !

4. Supposc you want i test the hypothesis that the real inlerest rate is constant, so
that all ehanges in the nominal interest rate changes in expected inflation.  Thus
your h_!.rp-:rthl.:sis is i, =r+0m,  (20%)

(#) Cunsider a regression of iy on a constant and m.,.  Does the hypothesis that the
real interest rate is constant make a general prediction abant the eoefficient on w7
Explain.

{b} Consider a regression of m,, on a constant and i, Does the hypothesis that the
real interest is constant make a general prediction about the voellicient on 7

Explain,
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